1.

x% = 5x +8)(x* + 5x —2)
)

@ (
@ (x% +5x—8)(x% - 5x+2)
® (

®
®

2
x% 4+ 5x +4)(x? + 5x + 2)
(x% + 5x + 8)(x? + bx + 2)
(x? 4+ B5x 4+ 8)(x% + 5x — 1)

B

(x+D(x+4)(x+2)(x+3)-38
= (x® + 5x +4)(x2 + 5x + 6) — 8 A
x? +5x = A 2} 5},
A% 1 10A 4+ 16 = (A +8)(A +2)
= (x? 4+ 5x + 8)(x% + 5x + 2)




2.

rd
filo
S
i)
R
nst
£
Q

-

VBT ] 0] ABL a, (1) o] &) AF
o gre?

© -7 @ -1 ® 1 @7 ® 13

VB1 =9 o] AlFE
(-4)%2 =16 & AF
sa—b=3-(-4)




7z9] Zol7t (V3+ V6) , M=ol Qo]
3

=
7} VB, Eol7k VB Q1 A8 wAle] 2yl
9

@ 6v6 +12 @ 9vV2+6 3176
® 12V3+12 @18«/§+18
® 24v2+21

B

(A5HA 9] 2y ol)
=2x {(V3+ V6) x V6 + V3x V6 + (V3+ V6) x V3}
=2 (VI8 +6+ VIS +3+ Vis)

=2(3VI8+9)
=18V2+18




V5(b + 3)

o

lo

5- V10 9 A4 BRS¢, A5 FES p et T o, p
& FshH?

® 3V5-5V2 @ 5V5-7v2 @7«/5—5\/5
@ 5v5-3V2 ® 3vV5-7V2

—4<-v10<-3, 1<5-+410<2

a=1, b=4-+10

V5(b+3)  V5(4- V10 +3)

1
=7V5-5v2

a




O|ZFA] x2 — Bxy + 2y + 4x — 5y + 3 & AR FFATY (ax -y +
b)(x+cy—d) 7t FATk ©He F 2L AL TEW?
®a+b=3 @ b+c=2 @ c+d=1

@a+c:—1 ® b+d=-3

B

x4+ (4-3y)x+2y*-5y+3
=2+ (4-3)x+ (2y-3)(y-1)
=(x-2y+3)(x-y+1)
ca=1,b=1¢c=-2,d=-3




b= A o, a2 + 2ab + b2 9] FH2?

® 2 @ 3 ©Y @ 5 ® 6

a2 +2ab + b2 = (a+b)?

2-v3 2+3\’
(e




